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 (Cells / Heredity / Inquiry, Technology & Engineering / Matter & Energy)

	1. 
	Cells secrete proteins, often as enzymes, that have been engineered or directed by the DNA in the nucleus. Which processes are involved in protein synthesis? 

	  
	a. 
	[image: image3.wmf]
	transfer to RNA, then to amino acids 

	  
	b. 
	[image: image4.wmf]
	transcription into RNA, then translation into amino acids 

	  
	c. 
	[image: image5.wmf]
	replication of DNA, then transcription into enzymes 

	  
	d. 
	[image: image6.wmf]
	translation into RNA, then replication into DNA 


	2. 
	Which process occurs in the chloroplasts of plant cells? 

	  
	a. 
	[image: image7.wmf]
	Cellular respiration 

	  
	b. 
	[image: image8.wmf]
	Photosynthesis 

	  
	c. 
	[image: image9.wmf]
	Reproduction 

	  
	d. 
	[image: image10.wmf]
	Protein synthesis 


	3. 
	A type of cell that can exist in a broad range of environmental conditions, can rapidly multiply, and lacks a nucleus is known as what type of cell? 

	  
	a. 
	[image: image11.wmf]
	animal 

	  
	b. 
	[image: image12.wmf]
	eukaryotic 

	  
	c. 
	[image: image13.wmf]
	plant 

	  
	d. 
	[image: image14.wmf]
	prokaryotic 


	4. 
	Flowers known as four o`clocks may be red, white, or pink. The genes show incomplete dominance. If a red gene and a white gene are inherited, the flower is pink. If two red genes are inherited, it will be red. If two white genes are inherited, it will be white. What happens if you cross two pink plants? 

	  
	a. 
	[image: image15.wmf]
	All of the offspring will be pink. 

	  
	b. 
	[image: image16.wmf]
	Half the offspring will be pink, one quarter will be red, and the other quarter will be white. 

	  
	c. 
	[image: image17.wmf]
	Half of the offspring will be red, and the other half will be white. 

	  
	d. 
	[image: image18.wmf]
	There is not enough information given to determine the results. 


	5. 
	Which organelle has the most control over a cell’s functions? 

	  
	a. 
	[image: image19.wmf]
	Cell membrane 

	  
	b. 
	[image: image20.wmf]
	Ribosomes 

	  
	c. 
	[image: image21.wmf]
	Nucleus 

	  
	d. 
	[image: image22.wmf]
	Vacuole 


	6. 
	[image: image23.png]




Which statement best describes what will most likely happen if the amphipod population is removed from this food web? 

	  
	a. 
	[image: image24.wmf]
	Population sizes of species at feeding levels both before and after amphipods will decrease. 

	  
	b. 
	[image: image25.wmf]
	Population sizes of species at feeding levels both before and after amphipods will increase. 

	  
	c. 
	[image: image26.wmf]
	Population sizes of species at feeding levels after amphipods will increase and before amphipods will decrease. 

	  
	d. 
	[image: image27.wmf]
	Population sizes of species at feeding levels after amphipods will decrease and before amphipods will increase. 


	7. 
	An experiment was designed to determine the effects of cool temperatures on the germination of pinon pine seeds. Which of these variables was LEAST important to control in this experiment? 

	  
	a. 
	[image: image28.wmf]
	The brand name of the refrigerator used to produce the cool temperatures 

	  
	b. 
	[image: image29.wmf]
	The number of seeds used in each group 

	  
	c. 
	[image: image30.wmf]
	The amount of time that the seeds were exposed to cool temperatures 

	  
	d. 
	[image: image31.wmf]
	The temperature range used to define cool temperatures 


	8. 
	The diagram below shows Rosalind Franklin’s x-ray diffraction image of DNA.

[image: image32.png]




How did this evidence affect the work of Watson and Crick? 

	  
	a. 
	[image: image33.wmf]
	It was used to determine the physical structure of DNA. 

	  
	b. 
	[image: image34.wmf]
	It was used to identify the four bases that make up DNA. 

	  
	c. 
	[image: image35.wmf]
	It was used to develop the theory of independent assortment. 

	  
	d. 
	[image: image36.wmf]
	It was used to show that DNA was the molecule of inheritance. 


EOC Biology - Test 2

(Biodiversity & Change / Cells / Inquiry, Technology & Engineering / Matter & Energy)

	1. 
	[image: image37.png]




The bulk of these short-grass prairie plants is underground. The main benefit that these plants receive from this adaptation is -- 

	  
	a. 
	[image: image38.wmf]
	more surface area for the absorption of water 

	  
	b. 
	[image: image39.wmf]
	more resistance to insect-transmitted diseases 

	  
	c. 
	[image: image40.wmf]
	increased ability to maintain cooler leaf temperatures 

	  
	d. 
	[image: image41.wmf]
	improved ability to detect areas high in carbon dioxide 


	2. 
	Which of these graphs shows the most stable population? 

	  
	a. 
	[image: image42.wmf]
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	b. 
	[image: image44.wmf]
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	c. 
	[image: image46.wmf]
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	d. 
	[image: image48.wmf]
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	3. 
	Which piece of laboratory equipment is used for dissection a flower’s pistil? 

	  
	a. 
	[image: image50.wmf]
	[image: image51.png]




	  
	b. 
	[image: image52.wmf]
	[image: image53.png]




	  
	c. 
	[image: image54.wmf]
	[image: image55.png]




	  
	d. 
	[image: image56.wmf]
	[image: image57.png]





	4. 
	Although there are a limited number of amino acids, many different types of proteins exist because the 

	  
	a. 
	[image: image58.wmf]
	size of a given amino acid can vary. 

	  
	b. 
	[image: image59.wmf]
	chemical composition of a given amino acid can vary. 

	  
	c. 
	[image: image60.wmf]
	sequence and number of amino acids is different. 

	  
	d. 
	[image: image61.wmf]
	same amino acid can have many different properties. 


	5. 
	What causes tomatoes to ripen much more slowly in a refrigerator than they do if left on a table at room temperature? 

	  
	a. 
	[image: image62.wmf]
	Tomatoes need sunlight to ripen. 

	  
	b. 
	[image: image63.wmf]
	Humidity accelerates the ripening process. 

	  
	c. 
	[image: image64.wmf]
	Low temperatures reduce the action of ripening enzymes. 

	  
	d. 
	[image: image65.wmf]
	Enzymes produced by bacteria inhibit ripening. 


	6. 
	[image: image66.png]Mass

(kg)

How a Fungus Affects
Plant Growth

15
T T T

141~ e Healthy plant
+ Plant with fungus

Months

12





The graph shows the growth curves of a healthy plant and a plant infected with a fungus. If this trend continues, what will be the mass of the plant infected with the fungus at 12 months? 

	  
	a. 
	[image: image67.wmf]
	10 kg 

	  
	b. 
	[image: image68.wmf]
	11 kg 

	  
	c. 
	[image: image69.wmf]
	12 kg 

	  
	d. 
	[image: image70.wmf]
	13 kg 


	7. 
	Which of these organisms would most likely be found at the bottom of a biomass pyramid? 

	  
	a. 
	[image: image71.wmf]
	giant squids 

	  
	b. 
	[image: image72.wmf]
	sand sharks 

	  
	c. 
	[image: image73.wmf]
	sea cucumbers 

	  
	d. 
	[image: image74.wmf]
	green algae 


	8. 
	When a virus infects a bacterium, what does the virus inject into the cell? 

	  
	a. 
	[image: image75.wmf]
	viral nucleic acid 

	  
	b. 
	[image: image76.wmf]
	capsid proteins 

	  
	c. 
	[image: image77.wmf]
	hormones 

	  
	d. 
	[image: image78.wmf]
	tail fibers 


EOC Biology - Test 3

(Biodiversity & Change / Cells / Heredity / Inquiry, Technology & Engineering / Interdependence)

	1. 
	Sexual reproduction results from the joining of two specialized sex cells called gametes. When a sperm and ovum combine to form a cell, what is this cell called? 

	  
	a. 
	[image: image79.wmf]
	embryo 

	  
	b. 
	[image: image80.wmf]
	fetus 

	  
	c. 
	[image: image81.wmf]
	zygote 

	  
	d. 
	[image: image82.wmf]
	baby 


	2. 
	If a human baby boy inherits a recessive allele from his mother, in which circumstance would he most likely show the trait coded for by the recessive allele? 

	  
	a. 
	[image: image83.wmf]
	The baby inherits the dominant allele from his father. 

	  
	b. 
	[image: image84.wmf]
	The allele is on an autosomal chromosome and the baby is a twin. 

	  
	c. 
	[image: image85.wmf]
	The allele is on the X chromosome. 

	  
	d. 
	[image: image86.wmf]
	The allele is on the Y chromosome. 


	3. 
	The diagram below illustrates possible evolutionary pathways of some species.

[image: image87.png]Present Time — - b
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Which statement is a valid inference based on the information in the diagram? 

	  
	a. 
	[image: image88.wmf]
	Species A is the common ancestor of all life on Earth. 

	  
	b. 
	[image: image89.wmf]
	Species D is more closely related to species E than to species F. 

	  
	c. 
	[image: image90.wmf]
	Species B is the ancestor of species F. 

	  
	d. 
	[image: image91.wmf]
	Species C is the ancestor of species that exist at the present time. 

	4. 
	Which statement best describes active transport? 

	  
	a. 
	[image: image92.wmf]
	Molecules move very quickly across a membrane. 

	  
	b. 
	[image: image93.wmf]
	Energy is expended to move molecules across a membrane. 

	  
	c. 
	[image: image94.wmf]
	More molecules move across a membrane than in diffusion. 

	  
	d. 
	[image: image95.wmf]
	Water molecules stream across a membrane into a concentrated situation. 


	5. 
	A five-year study was carried out on a population of algae in a lake. The study found that the algae population was steadily decreasing in size. Over the five-year period this decrease most likely led to 

	  
	a. 
	[image: image96.wmf]
	a decrease in the amount of nitrogen released into the atmosphere 

	  
	b. 
	[image: image97.wmf]
	an increase in the amount of oxygen present in the lake 

	  
	c. 
	[image: image98.wmf]
	an increase in the amount of water vapor present in the atmosphere 

	  
	d. 
	[image: image99.wmf]
	a decrease in the amount of oxygen released into the lake 


	6. 
	To observe a skin cell through a microscope at its highest magnification, you should first 

	  
	a. 
	[image: image100.wmf]
	use the coarse adjustment and the lowest power lens to focus and then switch to the highest power lens 

	  
	b. 
	[image: image101.wmf]
	use the highest magnification and the fine adjustment until the object is in focus 

	  
	c. 
	[image: image102.wmf]
	use the fine adjustment and lowest power lens to focus the object and then switch to the highest power lens 

	  
	d. 
	[image: image103.wmf]
	use the highest power and the coarse adjustment until the object is in focus 


	7. 
	A particular species of bird can be brown or white. The white color is a recessive trait, while the brown color is a dominant trait. When two brown birds mate, is it possible for them to have white offspring? 

	  
	a. 
	[image: image104.wmf]
	No, because both parents have only genes for being brown. 

	  
	b. 
	[image: image105.wmf]
	Yes, because offspring color does not depend on the genes of the parents. 

	  
	c. 
	[image: image106.wmf]
	Yes, because both parents may have and pass on the gene for being white. 

	  
	d. 
	[image: image107.wmf]
	No, because the parents can pass on only the dominant trait to their offspring. 


	8. 
	Maltose can be broken down into glucose molecules by the enzyme maltase. Which of the following would slow the reaction rate? 

	  
	a. 
	[image: image108.wmf]
	adding maltase 

	  
	b. 
	[image: image109.wmf]
	adding maltose 

	  
	c. 
	[image: image110.wmf]
	removing glucose 

	  
	d. 
	[image: image111.wmf]
	diluting with water 


EOC Biology - Test 4

(Cells / Heredity / Inquiry, Technology & Engineering / Interdependence / Matter & Energy)

	1. 
	Which is true of meiosis? 

	  
	a. 
	[image: image112.wmf]
	Identical cells are produced. 

	  
	b. 
	[image: image113.wmf]
	Haploid cells are produced. 

	  
	c. 
	[image: image114.wmf]
	Fertilized cells are produced. 

	  
	d. 
	[image: image115.wmf]
	Somatic cells are produced. 


	2. 
	Many natural ecosystems have been destroyed by human activity. To better manage our remaining natural ecosystems, we must first understand how the ecosystems are structured. One way to do this is to determine how the organisms in the ecosystem obtain the matter and energy they need to survive. The figure below shows a simplified food web.
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Based on the figure, how would the owls most likely respond if the mice all died out? 

	  
	a. 
	[image: image117.wmf]
	The owls would starve. 

	  
	b. 
	[image: image118.wmf]
	The owls would start eating foxes. 

	  
	c. 
	[image: image119.wmf]
	The owls would eat more squirrels and rabbits. 

	  
	d. 
	[image: image120.wmf]
	The owls would eat more green plants. 


	3. 
	A food chain is shown below.

[image: image121.png]Grasses = Crickets = Field Mice - Hawks






For the food chain shown, which of the following changes would have the most severe consequences? 

	  
	a. 
	[image: image122.wmf]
	a drastic decrease in rainfall, causing drought 

	  
	b. 
	[image: image123.wmf]
	the poaching of predatory hawks by game hunters 

	  
	c. 
	[image: image124.wmf]
	the introduction of a second predator that eats field mice 

	  
	d. 
	[image: image125.wmf]
	a parasitic infestation that reduces the cricket population 


	4. 
	A food web is shown below.
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In this food web, the trophic level with the least energy includes which of the following organisms? 

	  
	a. 
	[image: image127.wmf]
	grasses 

	  
	b. 
	[image: image128.wmf]
	mice 

	  
	c. 
	[image: image129.wmf]
	snakes 

	  
	d. 
	[image: image130.wmf]
	hawks 


	5. 
	Some decomposers get their energy by breaking down glucose in the absence of oxygen. This type of cellular respiration is a form of 

	  
	a. 
	[image: image131.wmf]
	electrolysis. 

	  
	b. 
	[image: image132.wmf]
	fermentation. 

	  
	c. 
	[image: image133.wmf]
	photosynthesis. 

	  
	d. 
	[image: image134.wmf]
	inorganic decomposition. 


	6. 
	The function of the cell organelle circled below is to produce energy.

[image: image135.png]




What is the name of this organelle? 

	  
	a. 
	[image: image136.wmf]
	Golgi apparatus 

	  
	b. 
	[image: image137.wmf]
	mitochondrion 

	  
	c. 
	[image: image138.wmf]
	nucleus 

	  
	d. 
	[image: image139.wmf]
	ribosome 


	7. 
	What are the basic building blocks of DNA and RNA? 

	  
	a. 
	[image: image140.wmf]
	lipids 

	  
	b. 
	[image: image141.wmf]
	organic salts 

	  
	c. 
	[image: image142.wmf]
	nucleic acids 

	  
	d. 
	[image: image143.wmf]
	carbohydrates 


	8. 
	[image: image144.png]Aortic Arch Pumping Rate

(beats per minute)

‘I'he Efrects of
Environmental Temperature
on the Pumping Rate of
an Earthworm’s Aortic Arches

0 1234567809101112
Temperature
(°C)





The graph shows the relationship between environmental temperature and the pumping rate of an earthworm’s aortic arches. If this trend continues, what will most likely be the earthworm’s pumping rate at an environmental temperature of 12oC? 

	  
	a. 
	[image: image145.wmf]
	7 beats per minute 

	  
	b. 
	[image: image146.wmf]
	8 beats per minute 

	  
	c. 
	[image: image147.wmf]
	9 beats per minute 

	  
	d. 
	[image: image148.wmf]
	10 beats per minute 


EOC Biology - Test 5

(Cells / Heredity / Interdependence / Matter & Energy)

	1. 
	What is (are) formed during replication? 

	  
	a. 
	[image: image149.wmf]
	amino acids 

	  
	b. 
	[image: image150.wmf]
	DNA 

	  
	c. 
	[image: image151.wmf]
	protein 

	  
	d. 
	[image: image152.wmf]
	RNA 


	2. 
	In protein synthesis, translation is the process that directly results in the 

	  
	a. 
	[image: image153.wmf]
	production of amino acid chains 

	  
	b. 
	[image: image154.wmf]
	manufacture of mRNA 

	  
	c. 
	[image: image155.wmf]
	copying of one DNA molecule into two molecules 

	  
	d. 
	[image: image156.wmf]
	movement of protein from one cell to another 


	3. 
	The movement of materials across a plasma membrane by means of a protein is called 

	  
	a. 
	[image: image157.wmf]
	facilitated transport 

	  
	b. 
	[image: image158.wmf]
	diffusion 

	  
	c. 
	[image: image159.wmf]
	active transport 

	  
	d. 
	[image: image160.wmf]
	osmosis 


	4. 
	Nitrogen-fixing bacteria are found in soybeans and many peas and beans. What should farmers do when they find these bacteria in their crops? 

	  
	a. 
	[image: image161.wmf]
	Use an antibacterial spray to destroy them. 

	  
	b. 
	[image: image162.wmf]
	Introduce predators that will eat the bacteria. 

	  
	c. 
	[image: image163.wmf]
	Destroy the crops because there is no cure for the bacteria. 

	  
	d. 
	[image: image164.wmf]
	Let the bacteria do their job of providing nourishment for the crops. 


	5. 
	In a particular type of pea, round seeds (R) are a dominant trait, while wrinkled seeds (r) are a recessive trait. Two parent plants, one that is Rr and one that is rr, produce 800 offspring. Approximately how many of the offspring should have wrinkled seeds? 

	  
	a. 
	[image: image165.wmf]
	200 

	  
	b. 
	[image: image166.wmf]
	400 

	  
	c. 
	[image: image167.wmf]
	600 

	  
	d. 
	[image: image168.wmf]
	800 


	6. 
	Years after the lava from an erupting volcano destroyed an area, grasses started to grow in that area. The grasses were gradually replaced by shrubs, evergreen trees, and finally, by a forest that remained for several hundred years. This entire process is an example of 

	  
	a. 
	[image: image169.wmf]
	feedback 

	  
	b. 
	[image: image170.wmf]
	ecological succession 

	  
	c. 
	[image: image171.wmf]
	plant preservation 

	  
	d. 
	[image: image172.wmf]
	deforestation 


	7. 
	A genetic disorder due to a recessive allele (a) is lethal in homozygous individuals (aa), whereas heterozygous individuals (Aa) have no symptoms. Based on this information, which of the following is likely to result? 

	  
	a. 
	[image: image173.wmf]
	The disorder will quickly be eliminated since no recessive homozygotes will survive to reproduce. 

	  
	b. 
	[image: image174.wmf]
	The disorder will be maintained in the population through the reproduction of heterozygotes. 

	  
	c. 
	[image: image175.wmf]
	Only homozygous dominant (AA) individuals will survive. 

	  
	d. 
	[image: image176.wmf]
	The prevalence of the disorder will increase over time. 


	8. 
	An undisturbed deer population grows until its carrying capacity is reached. Which of the graphs below BEST resembles this deer population? 

	  
	a. 
	[image: image177.wmf]
	[image: image178.png]se
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	b. 
	[image: image179.wmf]
	[image: image180.png]Time—s





	  
	c. 
	[image: image181.wmf]
	[image: image182.png]




	  
	d. 
	[image: image183.wmf]
	[image: image184.png]





EOC Biology - Test 6

(Cells / Heredity / Inquiry, Technology & Engineering / Interdependence / Matter & Energy)

	1. 
	Which is NOT true of meiosis? 

	  
	a. 
	[image: image185.wmf]
	Both eggs and sperm cells have the same number of chromosomes. 

	  
	b. 
	[image: image186.wmf]
	Both eggs and sperm cells have one-half the parent cells. 

	  
	c. 
	[image: image187.wmf]
	It is a process producing gametes only. 

	  
	d. 
	[image: image188.wmf]
	It is the same process that occurs in body cell division. 


	2. 
	Often, organisms compete with each other for a food source. Which of the following pairs of organisms compete with each other for food? 

	  
	a. 
	[image: image189.wmf]
	mice and owls 

	  
	b. 
	[image: image190.wmf]
	squirrels and owls 

	  
	c. 
	[image: image191.wmf]
	rabbits and green plants 

	  
	d. 
	[image: image192.wmf]
	mice and rabbits 


	3. 
	The diagram below shows a process that affects chromosomes during meiosis.

[image: image193.png]




This process can be used to explain 

	  
	a. 
	[image: image194.wmf]
	why some offspring are genetically identical to their parents 

	  
	b. 
	[image: image195.wmf]
	the process of differentiation in offspring 

	  
	c. 
	[image: image196.wmf]
	why some offspring physically resemble their parents 

	  
	d. 
	[image: image197.wmf]
	the origin of new combinations of traits in offspring 


	4. 
	If the sequence of nucleotides were AGC on a strand of DNA, what would be the nucleotide sequence on a strand of mRNA formed during transcription? 

	  
	a. 
	[image: image198.wmf]
	ACG 

	  
	b. 
	[image: image199.wmf]
	UCG 

	  
	c. 
	[image: image200.wmf]
	TGC 

	  
	d. 
	[image: image201.wmf]
	TCG 

	5. 
	A student filled two Petri dishes with a clear cornstarch gel, then marked the letter “X” invisibly onto the gel in Petri dish 1 with a damp cotton swab. He then placed saliva from his mouth onto a second cotton swab and used that swab to mark the letter “X” invisibly onto the gel in Petri dish 2.

[image: image202.png]SALIVA EAPERIMENT
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Fifteen minutes later, he rinsed both Petri dishes with a dilute solution of iodine to indicate the presence of starch. The surface of Petri dish 1 turned completely blue, indicating starch. Most of the surface of Petri dish 2 was blue, except the letter “X” was clear, as shown above.

The most probable explanation of the clear “X” is that 

	  
	a. 
	[image: image203.wmf]
	the starch in the gel was absorbed by the damp cotton swab. 

	  
	b. 
	[image: image204.wmf]
	the iodine reacted with a chemical in the saliva and broke down. 

	  
	c. 
	[image: image205.wmf]
	a chemical in the saliva broke down the starch in the gel. 

	  
	d. 
	[image: image206.wmf]
	the saliva prevented the iodine from contacting the starch in the gel. 


	6. 
	In aerobic respiration, the Krebs cycle (citric acid cycle) takes place in 

	  
	a. 
	[image: image207.wmf]
	chloroplasts. 

	  
	b. 
	[image: image208.wmf]
	nuclei. 

	  
	c. 
	[image: image209.wmf]
	lysosomes. 

	  
	d. 
	[image: image210.wmf]
	mitochondria. 


	7. 
	[image: image211.jpg]




The pictures above show two animals that appear to be related, but are not. The thylacine in the top picture is an extinct marsupial. Despite having a pouch like kangaroos, the thylacine developed large canine teeth and a dog-like body, and used to be a major predator in Australia before becoming extinct. The bottom picture is the golden jackal, a predatory wild dog native to a similar environment in Africa. Unlike the thylacine, jackals are placental, and have babies the same way humans do. What type of evolution do the thylacine and jackal have in common? 

	  
	a. 
	[image: image212.wmf]
	adaptive evolution 

	  
	b. 
	[image: image213.wmf]
	convergent evolution 

	  
	c. 
	[image: image214.wmf]
	Darwinian evolution 

	  
	d. 
	[image: image215.wmf]
	divergent evolution 


	8. 
	The clear protein of an egg white becomes opaque and firm when cooked because the heat 

	  
	a. 
	[image: image216.wmf]
	mutates the DNA. 

	  
	b. 
	[image: image217.wmf]
	turns the protein into carbohydrates. 

	  
	c. 
	[image: image218.wmf]
	stops protein formation. 

	  
	d. 
	[image: image219.wmf]
	changes the protein structure. 


EOC Biology - Test 7

(Biodiversity & Change / Cells / Inquiry, Technology & Engineering / Interdependence / Matter & Energy)

	1. 
	If a single plant species is removed from a food web, then mostly likely-- 

	  
	a. 
	[image: image220.wmf]
	an animal species will fill the unoccupied niche 

	  
	b. 
	[image: image221.wmf]
	other plants will produce enough food for herbivores 

	  
	c. 
	[image: image222.wmf]
	dependent herbivores will have to find new food sources 

	  
	d. 
	[image: image223.wmf]
	carnivores will be unaffected by the loss 


	2. 
	Eukaryotic cells are differentiated from prokaryotic cells because eukaryotic cells 

	  
	a. 
	[image: image224.wmf]
	are much smaller. 

	  
	b. 
	[image: image225.wmf]
	have permeable membranes. 

	  
	c. 
	[image: image226.wmf]
	have a higher rate of reproduction. 

	  
	d. 
	[image: image227.wmf]
	have nuclei. 


	3. 
	It was only very recently determined that giant pandas are much more closely related to bears, than to raccoons. Before this, many scientists believed that they were large members of the raccoon family. What is the best piece of evidence, that was probably used to re-classify giant pandas with bears? 

	  
	a. 
	[image: image228.wmf]
	more behavioral similarities to bears than to raccoons 

	  
	b. 
	[image: image229.wmf]
	more similarities in appearance to bears than to raccoons 

	  
	c. 
	[image: image230.wmf]
	more similarities in bear DNA and giant panda DNA 

	  
	d. 
	[image: image231.wmf]
	a more similar habitat to bears than to raccoons 


	4. 
	Apple trees and rose bushes do not appear to strongly resemble each other. Apple trees grow to 40 feet tall and produce large fruits and simple flowers. Most varieties lack thorns. Rose bushes generally grow as shrubs, produce compound flowers, and make small useless fruit known as hips. DNA analysis shows that apple trees and rose bushes share about 98% of their DNA code. What would this imply? 

	  
	a. 
	[image: image232.wmf]
	Apples and roses are distant relatives that no longer look alike. 

	  
	b. 
	[image: image233.wmf]
	Apples and roses have some similarities, but they are not close relatives. 

	  
	c. 
	[image: image234.wmf]
	Apples and roses are close relatives that have evolved different appearances. 

	  
	d. 
	[image: image235.wmf]
	Apples and roses are the same species, and their differences in appearance cannot be used to classify them as separate species. 


	5. 
	Some scientists estimate that each year 2 million people become infected in hospitals and, of these, about 80,000 die. A group of researchers investigated this phenomenon in a laboratory by placing 22 different kinds of bacteria on five different types of fabric commonly used in hospitals. They wanted to see how long the bacteria would survive on the fabric. The results showed that most bacteria can live on fabric for at least one day, though some can survive three months. The study also found that bacteria lived longer on artificial fabrics like polyester than on natural fabrics like cotton.

Which of the following is a verifiable conclusion resulting from this experiment that might help hospitals reduce infection rates? 

	  
	a. 
	[image: image236.wmf]
	Bacterial infections can be very dangerous to patients. 

	  
	b. 
	[image: image237.wmf]
	Two million people are infected each year in hospitals. 

	  
	c. 
	[image: image238.wmf]
	Hospitals must be free of accidental bacterial infections. 

	  
	d. 
	[image: image239.wmf]
	Bacteria live longer on polyester than they do on cotton. 


	6. 
	If you get chickenpox when you are young, you are not likely to get it again. Why is this? 

	  
	a. 
	[image: image240.wmf]
	The chickenpox virus cannot enter your body again. 

	  
	b. 
	[image: image241.wmf]
	The medicines you took for chickenpox are stored in your body. 

	  
	c. 
	[image: image242.wmf]
	Chickenpox is not as harmful now as it used to be. 

	  
	d. 
	[image: image243.wmf]
	Your body has formed antibodies against the chickenpox virus. 


	7. 
	Which of these organisms would most likely be found at the top of an energy pyramid? 

	  
	a. 
	[image: image244.wmf]
	clams 

	  
	b. 
	[image: image245.wmf]
	sardines 

	  
	c. 
	[image: image246.wmf]
	sharks 

	  
	d. 
	[image: image247.wmf]
	kelp 


	8. 
	The graph shows a growth curve for a population of Paramecium grown in a laboratory culture.

[image: image248.png]Paramecium Culture
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What is the approximate carrying capacity for this population of Paramecium under these conditions? 

	  
	a. 
	[image: image249.wmf]
	500 Paramecium/mL 

	  
	b. 
	[image: image250.wmf]
	700 Paramecium/mL 

	  
	c. 
	[image: image251.wmf]
	900 Paramecium/mL 

	  
	d. 
	[image: image252.wmf]
	1100 Paramecium/mL 


EOC Biology - Test 8

Biodiversity & Change / Cells / Heredity / Interdependence / Matter & Energy)

	1. 
	The brown summer feathers of ptarmigans, small Arctic birds, are replaced by white feathers after winter arrives. Which statement best explains this observation? 

	  
	a. 
	[image: image253.wmf]
	The expression of genes can be modified by the environment. 

	  
	b. 
	[image: image254.wmf]
	Holes in the ozone layer vary in size depending on the season. 

	  
	c. 
	[image: image255.wmf]
	Acids in rain bleach the brown feathers of the birds. 

	  
	d. 
	[image: image256.wmf]
	Mutations occur only during certain seasons. 


	2. 
	In mitosis, interphase is the period when the cell begins preparations to divide. Which of the sequences below follows interphase? 

	  
	a. 
	[image: image257.wmf]
	prophase-->metaphase-->anaphase-->telophase 

	  
	b. 
	[image: image258.wmf]
	metaphase-->prophase-->telophase-->anaphase 

	  
	c. 
	[image: image259.wmf]
	anaphase-->telophase-->interphase-->anaphase 

	  
	d. 
	[image: image260.wmf]
	telophase-->anaphase-->metaphase-->prophase 


	3. 
	Which condition would most likely upset the stability of an ecosystem? 

	  
	a. 
	[image: image261.wmf]
	a cycling of elements between organisms and the environment 

	  
	b. 
	[image: image262.wmf]
	energy constantly entering the environment 

	  
	c. 
	[image: image263.wmf]
	green plants incorporating sunlight into organic compounds 

	  
	d. 
	[image: image264.wmf]
	a greater mass of animals than plants 


	4. 
	Based on the summary equation for photosynthesis shown below, which of the following is produced by the reaction?

[image: image265.png]




	  
	a. 
	[image: image266.wmf]
	CO2 

	  
	b. 
	[image: image267.wmf]
	H2O 

	  
	c. 
	[image: image268.wmf]
	light 

	  
	d. 
	[image: image269.wmf]
	C6H12O6 


	5. 
	Which of the following shows how information is transformed to make a protein? 

	  
	a. 
	[image: image270.wmf]
	[image: image271.png]DNA — RNA — protein





	  
	b. 
	[image: image272.wmf]
	[image: image273.png]gene — chromosome — protein





	  
	c. 
	[image: image274.wmf]
	[image: image275.png]cell respiration — ATP — protein





	  
	d. 
	[image: image276.wmf]
	[image: image277.png]ATP — amuno acid — protein






	6. 
	Which of the following statements regarding cells is true? 

	  
	a. 
	[image: image278.wmf]
	All types of cells have the same life span. 

	  
	b. 
	[image: image279.wmf]
	The size of each type of cell varies greatly. 

	  
	c. 
	[image: image280.wmf]
	Most cells are unable to reproduce independently. 

	  
	d. 
	[image: image281.wmf]
	In humans, each tissue is composed of multiple cell types. 


	7. 
	An inheritable mutation may occur if an organism has a change in its -- 

	  
	a. 
	[image: image282.wmf]
	appendages 

	  
	b. 
	[image: image283.wmf]
	internal organs 

	  
	c. 
	[image: image284.wmf]
	DNA structure 

	  
	d. 
	[image: image285.wmf]
	ATP production rates 


	8. 
	There are many different enzymes located in the cytoplasm of a single cell. How is a specific enzyme able to catalyze a specific reaction? 

	  
	a. 
	[image: image286.wmf]
	Different enzymes are synthesized in specific areas of the cytoplasm. 

	  
	b. 
	[image: image287.wmf]
	Most enzymes can catalyze many different reactions. 

	  
	c. 
	[image: image288.wmf]
	An enzyme binds to a specific substrate (reactant) for the reaction catalyzed. 

	  
	d. 
	[image: image289.wmf]
	Enzymes are transported to specific substrates (reactants) by ribosomes. 


EOC Biology - Test 9

(Biodiversity & Change / Cells / Heredity / Inquiry, Technology & Engineering / Interdependence)

	1. 
	[image: image290.jpg]




The blind mole rat is a close relative of other rats. However, mole rats live underground for their entire lives. As a result, their eyes have evolved into useless structures. Presumably, mole rats will not have eyes at all in the distant future. What type of structures are the mole rat's eyes? 

	  
	a. 
	[image: image291.wmf]
	analogous structures 

	  
	b. 
	[image: image292.wmf]
	homologous structures 

	  
	c. 
	[image: image293.wmf]
	selective structures 

	  
	d. 
	[image: image294.wmf]
	vestigial structures 


	2. 
	The illustration below represents a marine iguana.

[image: image295.jpg]




The marine iguanas of the Galápagos Islands feed on seaweed and algae. Marine iguanas have flattened tails while other species of iguanas that live inland on the Galápagos and on the South American mainland have rounded tails.

Which of the following best explains this difference in tail shape? 

	  
	a. 
	[image: image296.wmf]
	Flattened tails are better for swimming than rounded tails. 

	  
	b. 
	[image: image297.wmf]
	Flattened tails move more easily on land than in the ocean. 

	  
	c. 
	[image: image298.wmf]
	Flattened tails are harder for predators to grasp than rounded tails. 

	  
	d. 
	[image: image299.wmf]
	Flattened tails release heat more rapidly in the ocean than on land. 


	3. 
	A bat species can hunt perfectly well without eyes, and yet it still can see. What does this tell us about sight as an evolutionary variation in this species of bat? 

	  
	a. 
	[image: image300.wmf]
	Sight is an unfavorable trait. 

	  
	b. 
	[image: image301.wmf]
	Sight is a non-inheritable trait. 

	  
	c. 
	[image: image302.wmf]
	Sight may be an unfavorable trait for hunting. 

	  
	d. 
	[image: image303.wmf]
	Sight may be a favorable trait, but not for hunting. 


	4. 
	The process by which the order of bases in messenger RNA (mRNA) codes for the order of amino acids in a protein is called 

	  
	a. 
	[image: image304.wmf]
	translation 

	  
	b. 
	[image: image305.wmf]
	transcription 

	  
	c. 
	[image: image306.wmf]
	replication 

	  
	d. 
	[image: image307.wmf]
	nondisjunction 


	5. 
	[image: image308.png]Burning Man
People have been altering the climate since the days of the woolly mammoth.

‘Humans are constantly manipulating their environment: we now plow over forests
to make space for parking lots and giant malls, fll in marshland for seaside
condominiums, and muddy the air with car exhaust and industrial polhutants. In the
bargain, mankind has altered local ecosystems, raised global temperatures, and
perhaps even influenced the patterns of rainfall and the strength of hurricanes (see
Rainmakers" in Discover, November 1998). But al this inadvertent tinkering with
climate and the environment is nothing new. According to geologist Gifford Miller
of the University of Colorado at Boulder, it has been going on for many thousands
of years.

Miller believes that the systematic burning of vegetation in Australia by early
Aboriginal peoples, beginning about 50,000 years ago, caused an irrevocable shift
in the flora and the climate of the entire continent. Today, the vast interior of
Australia is an arid and desolate place, with nutrient-poor soils and sparse plant life.
It was not always so; at many times in the past, the entire continent abounded with
lush vegetation and large inland lakes.

Before humans came along, nature alone controlled these changes. According to
fossil and other evidence, Australia cycled though long periods of dry and wet
conditions from at least 150,000 years ago until about 40,000 years ago. These
climatic shifts correspond to a variation in Earth's orbit around the sun, called the
Milankovitch cycle, which changes the amount of solar radiation that reaches the
planet. The Milankovitch cycle is responsible for the waxing and waning of glaciers
in the Northern Hemisphere.

Controlled burning of vegetation by early Australians, Miller thinks, transformed

the flora of norther Australia from drought-resistant plants to grassland. The
altered landscape influenced the climate and ultimately led to the desertification of




[image: image309.png]the continent’s interior. "Such a shift would have dramatically reduced the recycling
of moisture between land and atmosphere,” says Miller.

Used by permi

lon of Discover-Science News.





The central claim of the article is which of the following? 

	  
	a. 
	[image: image310.wmf]
	The Milankovitch cycle has strongly influenced human cultures. 

	  
	b. 
	[image: image311.wmf]
	Only with modern technology has humanity begun to alter the environment. 

	  
	c. 
	[image: image312.wmf]
	Manipulating the environment is acceptable because people have always done it. 

	  
	d. 
	[image: image313.wmf]
	People have been altering the environment much longer than previously believed. 


	6. 
	Which procedure would most likely provide valid results in a test to determine if drug A would be effective in treating cancer in white mice? 

	  
	a. 
	[image: image314.wmf]
	injecting 1 mL of drug A into 100 white mice with cancer 

	  
	b. 
	[image: image315.wmf]
	injecting 1 mL of drug A into 100 white mice with cancer and 0.5 mL of drug X into 100 white mice without cancer 

	  
	c. 
	[image: image316.wmf]
	injecting 1 mL of drug A into 100 white mice with cancer and 0.5 mL of drug X into another group of 100 white mice with cancer 

	  
	d. 
	[image: image317.wmf]
	injecting 1 mL of drug A into 100 white mice with cancer and 1 mL of distilled water into another group of 100 white mice with cancer 


	7. 
	The genetic disorder trisomy 21 (Down syndrome) is caused by what genetic event? 

	  
	a. 
	[image: image318.wmf]
	crossing-over 

	  
	b. 
	[image: image319.wmf]
	nondisjunction 

	  
	c. 
	[image: image320.wmf]
	base pair substitution 

	  
	d. 
	[image: image321.wmf]
	frame-shift location 


	8. 
	Edward Jenner
Edward Jenner (1749-1823) was a British physician whose research led to the elimination of the disease smallpox. Smallpox is a contagious viral disease that infects the bloodstream of its victims. Smallpox was not always deadly, but it often left scars on its victims, who afterward were immune to the disease. Jenner noticed that farm workers who had been infected with a similar, but more mild, disease known as cowpox never caught smallpox. He administered a small dose of cowpox to a child, who proved immune to smallpox when he was exposed to smallpox two months later.



Which of the following is a way to determine if the body has a bacterial infection? 

	  
	a. 
	[image: image322.wmf]
	inoculate the patient with the disease 

	  
	b. 
	[image: image323.wmf]
	test for increased levels of cholesterol 

	  
	c. 
	[image: image324.wmf]
	look for antibodies in the bloodstream 

	  
	d. 
	[image: image325.wmf]
	determine if hormones are in the blood 


EOC Biology - Test 10

(Biodiversity & Change / Cells / Inquiry, Technology & Engineering / Interdependence / Matter & Energy)

	1. 
	The sweet taste of freshly picked corn is due to the high sugar content in the kernels. Enzyme action converts about 50% of the sugar to starch within one day after picking. To preserve its sweetness, the freshly picked corn is immersed in boiling water for a few minutes, and then cooled. Which statement most likely explains why the boiled corn kernels remain sweet? 

	  
	a. 
	[image: image326.wmf]
	Boiling destroys sugar molecules so they cannot be converted to starch. 

	  
	b. 
	[image: image327.wmf]
	Boiling kills a fungus on the corn that is needed to convert sugar to starch. 

	  
	c. 
	[image: image328.wmf]
	Boiling activates the enzyme that converts amino acids to sugar. 

	  
	d. 
	[image: image329.wmf]
	Boiling deactivates the enzyme responsible for converting sugar to starch. 


	2. 
	Which part of the cell provides energy through the process of cellular respiration? 

	  
	a. 
	[image: image330.wmf]
	cell wall 

	  
	b. 
	[image: image331.wmf]
	cytoplasm 

	  
	c. 
	[image: image332.wmf]
	mitochondrion 

	  
	d. 
	[image: image333.wmf]
	cell membrane 


	3. 
	[image: image334.png]|

After 15 minutes





The pictures show the results of the chromatography of a leaf extract. Which statement is best supported by the results of this investigation? 

	  
	a. 
	[image: image335.wmf]
	This leaf contains more than five pigments. 

	  
	b. 
	[image: image336.wmf]
	This leaf has more yellow pigment than green pigment. 

	  
	c. 
	[image: image337.wmf]
	This leaf contains at least four different pigments. 

	  
	d. 
	[image: image338.wmf]
	This leaf’s green pigment is less dense than the yellow pigment. 


	4. 
	Which component of a stable ecosystem can not be recycled? 

	  
	a. 
	[image: image339.wmf]
	oxygen 

	  
	b. 
	[image: image340.wmf]
	water 

	  
	c. 
	[image: image341.wmf]
	energy 

	  
	d. 
	[image: image342.wmf]
	nitrogen 


	5. 
	[image: image343.png]




Which energy pyramid most accurately shows the energy relationships between three organisms in this food web? 

	  
	a. 
	[image: image344.wmf]
	[image: image345.png]Bacteria

Protozoa
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	b. 
	[image: image346.wmf]
	[image: image347.png]Diving beetles

Snails

Aigae






	  
	c. 
	[image: image348.wmf]
	[image: image349.png]Crayfish

Dead organisms

Bacteria






	  
	d. 
	[image: image350.wmf]
	[image: image351.png]Amphipods
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	6. 
	Passive transport differs from active transport in that passive transport 

	  
	a. 
	[image: image352.wmf]
	uses ATP from the cell’s mitochondria. 

	  
	b. 
	[image: image353.wmf]
	requires twice as much energy to take place. 

	  
	c. 
	[image: image354.wmf]
	uses energy from the cell’s energy reserves. 

	  
	d. 
	[image: image355.wmf]
	does not require energy from ATP to take place. 


	7. 
	Plants that can tolerate great extremes in environmental temperatures are most often found living in -- 

	  
	a. 
	[image: image356.wmf]
	deserts 

	  
	b. 
	[image: image357.wmf]
	coastal pine forests 

	  
	c. 
	[image: image358.wmf]
	prairies 

	  
	d. 
	[image: image359.wmf]
	island hardwood forests 


	8. 
	The cell shown below is undergoing mitosis. The daughter chromosomes are moving toward opposite poles of the cell.

[image: image360.png]




Which phase of mitosis is shown above? 

	  
	a. 
	[image: image361.wmf]
	anaphase 

	  
	b. 
	[image: image362.wmf]
	metaphase 

	  
	c. 
	[image: image363.wmf]
	prophase 

	  
	d. 
	[image: image364.wmf]
	telophase 
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